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HS S = 9 Jle8 stelzp= = 9 H]
1 AU wek 18,000 1,800 16,200

2 AtsHE7| A (=2Q) wet 29,000 2,900 26,100

3 AtEHE7| QA (THIARE) wet 49,000 4,900 44,100

4 Hajo]3 0 w3l 29,000 2,900 26,100

5 ot AEjoj QA w3l 19,000 1,900 17,100

6 Hasd(eel) gt 19,000 1,900 17,100

l BsR(gH] ARE) weh 49,000 4,900 44,100

8 I BE wed 9,000 900 8,100

9 QRWE w3 29,000 2,900 26,100

10 S &AT n2E dgo]3 Lt wet 24,000 2,400 21,600

11 1,000CC oI5} [ajo) wajo|3 mjc wst 24,000 2,400 21,600

12 2R A Talo] waol 2 atold 4 W 34,000 3.400 30.600

13 Efo]YHE(YEHHET =g W 89,000 8,900 80,100

14 7] wg 49,000 4,900 44,100

15 AELERE w3t 59,000 5,900 53,100

16 AstEe] a1 (AR LY) 29,000 2,900 26,100

17 Asdy weHHA) - - -

18 ofo}zd 7tA &) 24,000 2,400 21,600

19 Efo]o] 3 £2](1Fo]) 9,000 4,000 5,000

20 Elo]o] I3 2 2](Elo]ofEFA} 14,000 4,000 10,000

Aa-d8 AR FACHEY, gA, LPG), £UAMe] 49 dolwo T} 7|es7 O & sy




HS R = 9 7le8 49172 = 9
1 oMxI QA w3t 19,000 1,900 17,100
2 Are¥&71 2 d(=Ql) wet 34,000 3,400 30,600
3 Atst47] LU (FHALE) wet 54,000 5,400 48,600
4 vyo]70 w3l 29,000 2,900 26,100
5 a9 AEjojal Qo w3l 19,000 1,900 17,100
6 Haa(=Ql) wet 19,000 1,900 17,100
7 BB (8] AHE) we 49,000 4,900 44,100
8 e W 14,000 1,400 12,600
9 QEWE 3} 39,000 3,900 35,100
10 293} n2E Yyo]3 Hj= wl 29,000 2,900 26,100
11 2.000CC o|s} | 2ol Bajo]a m= wst 29,000 2,900 26,100
12 auzs o) | Aol Beo|Zetold & wgh 39,000 3,900 35,100
3 Elo]ul ¥l E (98| H & 1 H) 7. 3F-SOHC 119,000 11,900 107,100

Elo]nl¥l E (98 H = 1 3H 7 3H-DOHC 179,000 17,900 161,100
14 ubxl 7] wsk 69,000 6,900 62,100
15 AE}EQE W3 79,000 7,900 71,100
16 Ast=a] 7 @3HoIx AA) 34,000 3,400 30,600
17 Az e wFHO]A) 39,000 3,900 35,100
18 oo}zl 71A =9l 29,000 2,900 26,100
19 Elo]o] 3 2a](7to]) 9,000 4,000 5,000
20 22](E}o] o] erzh) 14,000 4,000 10,000

CLPG), >%UAte] AL dolzd wal /|&rrt o & A5




HS S = 7le8 2497 2= = 9 H]
1 olx1 Qe w3t 24,000 2,400 21,600
2 AHew A7) Q A(=291) w3t 39,000 3,900 35,100
3 AH=#47] Q A (AHE]ALE) w&t 59,000 5,900 53,100
4 vyo]720 w3l 39,000 3,900 35,100
5 a9 AEjojal Qo w3l 29,000 2,900 26,100
6 Hsa(=aQl) wet 19,000 1,900 17,100
7 H5A(gy] AHE) we 59,000 5,900 53,100
8 FHEy Wt 14,000 1,400 12,600
9 295} QEWE 3} 44,000 4,400 39,600
10 2,000CC o]A} I=2E dHyo|z 1t wsh 34,000 3,400 30,600
11 3,000CC osp | ol Belol3 m= wet 34,000 3,400 30,600
12 auzz xe) | O Belol3 2old & wg - - -
13 Elo|ulHl E(YEH o I3 w3t 219,000 21,900 197,100
14 ubA 7] wsl 79,000 7,900 71,100
15 AE}ERE w3t 79,000 7,900 71,100
16 Ast=g] 1 w3HoIxlIF ) 94,000 9,400 84,600
17 Az e wFHT]A) 39,000 3,900 35,100
18 ooz 7tA = 29,000 2,900 26,100
19 Efo]o] 3 £2|(1Fo]) 9,000 4,000 5,000
20 Elo]o] I3 22](Elo] o] ELA} 14,000 4,000 10,000
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M5 B = o &8 = 4 H) o
1 AMxI QY wet 29,000 26,100
2 Atest&7] L (=2Q1) et 49,000 44,100
3 Atst47] LA (FFHALE) wet 69,000 62,100
4 Hgo] 209 73t 49,000 44,100
5 n}o] AE]oj2) @ ol &t 39,000 35,100
6 Bsoi(=Ql) e 29,000 26,100
7 B ol(ZH] ALE) wE 69,000 62,100
8 B wet 14,000 12,600
9 QIEHE et 49,000 44,100
10 S8Rt T2E Hio|3 T g 34,000 30,600
11 | 3.000CC °I% [3jo] wejol= mie wst 34,000 30.600
12 Fe A | ajo) wejoj3 atold % wsth - -
13 Efo|yHE(YEjHT =3l wgh 239,000 215,100
14 ubx) 7] psh 79,000 71,100
15 AELERE 7§ 79,000 71,100
16 Ast=Ze) 0 @ SHONA 7.9 104,000 93,600
17 AdaEE wiH(HA) - -
18 oojzd 7kA 7Y 39,000 35,100
19 Efolo] 3 2|(to]) 9,000 5,000
20 Efojo] 3 S2j(Efo]oEAY) 14,000 5,000
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HS = = Jle8 24917 2= =
1 Ay wgt 29,000 2,900 26,100
2 Atsf4&7] Y (=2Ql) et 34,000 3,400 30,600
3 AtEHE7| QA (JHIARE) wet 49,000 4,900 44,100
4 vo]709 w3l 34,000 3,400 30,600
5 ot AEjoj QA w3l 29,000 2,900 26,100
6 B (=gQl) wet 24,000 2,400 21,600
7 BsR (Y] ARE) wek 49,000 4,900 44,100
8 I BE wed 9,000 900 8,100
9 QIEHE weh-AERIA 39,000 3,900 35,100

QEWE P3-¥ 3 mI X Q 54,000 5,400 48,600
10 n2E d"o]3 mjt w3t 29,000 2,900 26,100
11 2]o] vgo]3 mj= wst 29,000 2,900 26,100
12 2]o] vdo]3 gtolyd A wE 49,000 4,900 44,100
13 Elo|ulWl E(QEH o 13} w3t 154,000 15,400 138,600
14 AR 7] wet 79,000 7,900 71,100
15 AEFE R E] W3 69,000 6,900 62,100
16 AefEe 1 nghH(ARAY) - - -
17 Az wFHO]A) 39,000 3,900 35,100
18 ool 7tA 24 29,000 2,900 26,100
19 Efo]o] g3 £2](1to]) 9,000 4,000 5,000
20 Elo]o] I3 22](Elo] o] EFA} 14,000 4,000 5,000
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He S = 9 TR gel71A = 9 H o
1 MR QA wgh 29,000 2,900 26,100
2 AHeH47] e d(=2Ql) wet 34,000 3,400 30,600
3 AtsHE7| QA (FTHIARE) wet 49,000 4,900 44,100
4 dafo] 309 73l 34,000 3,400 30,600
5 ato] ~E]o]2 QA W3l 29,000 2,900 26,100
6 Hsd(=Ql) wet 24,000 2,400 21,600
l BsR (Y] ARE) we 49,000 4,900 44,100
8 I+Zy & 9,000 900 8,100
9 QEWE 3} 44,000 4,400 39,600
10 S=AtEAl [m=e wojolm e wal 29,000 2,900 26.100
11 1E~1.4E015t  [q)oy vejoj= o= wat 29,000 2,900 26,100
12 GRAE A Talo] waol A atoly 4 W 54.000 5.400 48.600
13 ElolWHl E(YEHn x3h) w3t 209,000 20,900 188,100
14 7] wgt 79,000 7,900 71,100
15 AEFEQHE w3t 69,000 6,900 62,100
16 AgtEe] a1 AR L) - - -
17 dawE wIHO]A) 39,000 3,900 35,100
18 ool 7tA 24 29,000 2,900 26,100
19 Efolo] H3 &2](11o]) 9,000 4,000 5,000
20 Efojo] 3 S2](Efo]ojFA}) 14,000 4,000 10,000
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